Name:

—( Area and Perimeter of a Parallelogram)

b b

Area formula: A=bxh Lh / Perimeter formula: P=2 x (b+q) Zh /

Find the area and perimeter of each parallelogram.

103.5m b. 82.2 ft c.

qa. 131.41in
i
68.7m H ,
123.9 ft i 103 in :
68.7m | 119.6 ft | 95.21in 103 in
= !
........... .I:i 0
area = area = areq =
perimeter = perimeter = perimeter =
79.5m
d' e. 115.4ft f' 121.4 ft
1
i
172.2m 70.8ft 1\ 90.6 ft
70.8ft  90.6 ft 88.2 ft | '
i
115.4ft =!
121.4 ft
areq = area = areq =
perimeter = perimeter = perimeter =
g. h. Hint: Look i. Hint:Look 6.79 cm
1373 in carefully  143.7mm carefully
at the at the
Onifs 6.15¢cm units
87% in 873 in 119.5 mm 108.7 mm
m 6.15¢cm
1373in e
134.4mm 6.79 cm
area = area = areq =
perimeter = perimeter = perimeter =
400025
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ANSWER KEY

—( Area and Perimeter of a Parallelogram)

b

Areaformula: A=bxh /" /

b

Perimeter formula: P =2 x (b+a) Zh /

Find the area and perimeter of each parallelogram.

a. 103.5m b. 82.2 ft c. 131.4in
' i
68.7:m 123.9 ft : 103in /
. 1 .
. i :
........... 0 .I:i m|
101.5m 80 ft 131.41in
2 2 +n2
wea-  6.973.05m wea- 9.831.12ft wea-  12,509.28in
perimeter = 3444 m perimeter = 412.2 ft perimeter = 468.8 in
79.5m
d. e. 115.4 ft f. 121.4 ft
172.2m 70.8ft ft
70.8ft 90.6 ft 88.2 ft 706
m
2o 5m 115.4 ft ——
2 2
area=_13,689.9 m area = ___7.950.84 ft area = 10,707.48 ft2
perimeter = 520.6 m perimeter = 372.4 ft perimeter = 424 ft
g. . h. Hint: Look i. Hint:Look  6.79cm
1373 in carefully  143.7mm c;::;ﬁfully
of the 615cm i
87% in 873 in 119.5 mm 108.7 mm
m 6.15¢cm
1373in e emmmmmm—————
134.4mm 6.79 cm
areq= 11,990 in? areq=  8,265.6 mmZor areq = 7,380.73 mmZor
, 82.656cm? 73.8073cm?
perimeter = 44935 in or 4494 in perimeter = 410.4 mm or perimeter = 374.8 mm or
41.04 cm 37.48 cm
[400025
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